
Problem Set 31

CS 411

Due at the beginning of class on the first class day of the following week.

Sections 14.1–4

1. Consider the ring protection scheme in MULTICS. If we were to implement the system calls of

a typical operating system and store them in a segment associated with ring 0, what should be

the values stored in the ring field of the segment descriptor? What happens during a system

call when a process executing in a higher-numbered ring invokes a procedure in ring 0?

2. The access-control matrix can be used to determine whether a process can switch from,

say, domain A to domain B and enjoy the access privileges of domain B. Is this approach

equivalent to including the access privileges of domain B in those of domain A?
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